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(1) [ ] x+3)y=+6 (20 [ | x (+3)==¢6
(3) [ Ix(=3)=+6 (4) [ |x(=3)y==6
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(1) (+2) X (+3) =+6 = (+6) = (+3) =[()]
(2) (=2) X (+3) ==6 - (=6) + (+3) =[(2)]
(3) (=2) X (=3) =+6 - (+6) + (=3) =[ ()]
(4) (+2) x (=3) ==6 - (=6) + (=3) =[(N)]
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2) (2) (=2) (3) (=2) (4) (+2)

7l i Hom [ +2 B -2 [ -2 ] +2

2. [@2) HFERECHEORE — +
TR

TR J\ Q)#)LVJI’TH,\ —

) (1 @ (—12)= (=)

=+(12x+4) =+(12+4) (H)5(+) = (+)
— 13 — 43 (=)+(=) = ()
=3 -3

0 <+_12>+<—_4> @2 (—12)=(+4)

= —(12=4) =—(12+4) (H)=(=)= (=)
—_3 - _3 (=)+(H)= ()
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2. V@ (1) (+18)+(+3)

=+(18+3)
=+6
=6

8 (1) (+36)+(—6)
——(36=6)
——6

EF3] (1) (—50)+(—9)
=+(54-+9)
=+6
=6

EeEE) (1) (—72)-(—19)
=+(72+18)

(2)

(2) (—32)+(—4)
=+(32+4)
=+8
=8

2) (—26)+(+2)

=—(26+2)

=—13

0=(—7) (3) 48=(—3) @) (—96)=8
=0 =—(48+13) =—(96-=8)

=—16 =—12

(2) 42+-(—14) (3) (—102)=17
=—(42+14) =—(102+17)

=—_3 —
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